Examen de Matematicas 4° de ESO
Noviembre 2009

Resolver las siguientes ecuaciones y sistemas:

Problema 1
log(3xz +1) — 1 =2logx

Solucion:

3x+1
log< xlg >:10g1:2:>10m2—3m—1:O:>

x=1/2
x = —1/5 no vale

Problema 2
2.32r 13771 _1=0
Solucién:
3z t =0, 6286669787
x\2 Y 1= 2 _9_ )
2(3%)* + 3 1=0=6t>+¢t—3 oz>{ £ — 0, 7953336454

t = 0,6286669787 = 3% = z = —0,4224908211
t = —0,7953336454 = 3°* = No Vale

Problema 3
log(z%y) =13
log (xQ) =7
Y
Solucién:

2logxz+ logy = 13 . 2u+ v= 13
2logx— logy= 7 2u— v= 7

u=logr=5= =10
v=logy =3 =y =103
Problema 4

2rtl— gu=l =1
2+ ¥ =4



Solucion:

Y
9.9e_ 3 _ Qu— 2 =1
3 3
e e
2% 4 3V =4 ut+ v =4

u=1=3*=2=0

v=3=3 =y=1

Problema 5
T —2 r—1 1—=x
+

-2 10

Solucion:
20 +6> 62 —6—= —do > —-12—= 1 <3 = (—00, 3]
Problema 6

2 —2x—15
T T«

0
r+1 -

Soluciodn:

3:2—23:—15: (x —5)(x + 3)

<0
r+1 r+1

(=00, —3) | (=3,-1) | (=1,5) | (5, 00)

f(x) — + — +
La solucién es: (—oo, —3] U (—1, 5]
Problema 7
{ z— 3y >3
r— y <1
Solucién:




Problema 8

Vor+l-1==x

Solucion:

Sr+l=2’4224+1=2>-32=0=2=0, =3

Problema 9

Ve+3-Vr-2=1
Solucion:

ver+3=1+ver—-2—=—=24+3=142-2-2Vz -2 —2=—Vzr—-2—2x=06
Problema 10

zt — 1522 — 16 =0
Solucién:
Hacemos z =22 = 22 - 152 — 16 =0 = 2 =16 y 2 = —1.
z=16=2" = v =44

2z = —1 =22 No Vale



